
Ciro Riccio

APEX meeting


October 3rd, 2024

SBU parts for 2ton 
prototype at CERN

Stony Brook 
University



SBU list of parts

2Ciro Riccio, Stony Brook University | APEX meeting meeting

VIEW1
SCALE 1 / 7

VIEW3
SCALE 1 / 4

 HD PROFILE LOOPRM 1020951534
-INSERT BOTTOM FRPRM 102093833
 TOP MOUNTRM 102092232
-CLIP XARAPUCARM 1020912431
-STRUCTURAL PLATERM 102090130
-SPACER 1RM 102089429
-ROD HANGINGRM 102086828
-ROD 1RM 102083827
-XARAPUCA PLATE TOPRM 102080426
-ROD 2RM 1020793225
 HEX NUT G-10 M6 X 1RM 1020789824
-SPACER 2RM 1020771323
-ROD 3RM 1020761722
-NUT GAROLITE M12 X 1.75RM 1020754021
-ROD 4RM 102073820
-SPACER 3RM 102072819
-XARAPUCA PLATE BOTTOMRM 102069418
 FRAME VERTICALRM 102067817
-TANKRM 102063REF16
-INSERT TOP FRPRM 102057815
-FIELD CAGE CONNECTORRM 1020521514
-SHIELD PLATERM 102049113
 RDB 10 NODES WIDERM 101029 112
 RDB 5 NODES WIDERM 101028111
-CATHODERM 101024110
 ISO metric hexagon socket head cap 

screws
AS 1420 - 1973 
- M3 x 10

1209

 SlipNutW_PCB 1208
Misumi-FB-305530Misumi-FB-305530 1207
Helical spring lock 
washers (metric series)

AS 1968 - 1976 - 3 1203

 CRP THIN REF6
 CRP THICK BOARDRM 102096 

NEW_assembly 
CRP

REF5

 CERN182_2T_Cryostat_head REF4
MCMASTER 94020A383Aluminum Heavy-Duty Rivet Nut 482
MCMASTER 91292A147 Stainless Steel Socket Head Screw 41

Parts List
DESCRIPTION 2DESCRIPTION 1PART#QTYITEM

A

A

B B

C C

D D

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

BREM LABS
4992 EXPRESS DR S RONKONKOMA NY USA 11779

TITLE

SIZE DRAWING NUMBER REV.SCALE

FRAC. TOL.`1/64

CHKD

DATE

DATE

DATEDWN

QTYJOB #
APPR

USED ON

MACHINED DIMENSIONS
UNLESS OTHERWISE SPECIFIED:
FILLETS R 1/32, EDGES BREAK .005
SURFACE FINISH 63 MICROFINISH

ANG. TOL. `0~30'
.XXXX=`.0005).

SHT
# 
OF

DEC. TOL.(.X=`.015, .XX=`.010, .XXX=`.005,

CERN182_2T_Hanger

RM 101019  D

8/15/2024RAM
 

-

3 
1  

MARK 
PART#

TEL +1 (631) 672-7385   

32

1

4

16

34

10

30

13

VIEW1
SCALE 1 / 7

VIEW3
SCALE 1 / 4

 HD PROFILE LOOPRM 1020951534
-INSERT BOTTOM FRPRM 102093833
 TOP MOUNTRM 102092232
-CLIP XARAPUCARM 1020912431
-STRUCTURAL PLATERM 102090130
-SPACER 1RM 102089429
-ROD HANGINGRM 102086828
-ROD 1RM 102083827
-XARAPUCA PLATE TOPRM 102080426
-ROD 2RM 1020793225
 HEX NUT G-10 M6 X 1RM 1020789824
-SPACER 2RM 1020771323
-ROD 3RM 1020761722
-NUT GAROLITE M12 X 1.75RM 1020754021
-ROD 4RM 102073820
-SPACER 3RM 102072819
-XARAPUCA PLATE BOTTOMRM 102069418
 FRAME VERTICALRM 102067817
-TANKRM 102063REF16
-INSERT TOP FRPRM 102057815
-FIELD CAGE CONNECTORRM 1020521514
-SHIELD PLATERM 102049113
 RDB 10 NODES WIDERM 101029 112
 RDB 5 NODES WIDERM 101028111
-CATHODERM 101024110
 ISO metric hexagon socket head cap 

screws
AS 1420 - 1973 
- M3 x 10

1209

 SlipNutW_PCB 1208
Misumi-FB-305530Misumi-FB-305530 1207
Helical spring lock 
washers (metric series)

AS 1968 - 1976 - 3 1203

 CRP THIN REF6
 CRP THICK BOARDRM 102096 

NEW_assembly 
CRP

REF5

 CERN182_2T_Cryostat_head REF4
MCMASTER 94020A383Aluminum Heavy-Duty Rivet Nut 482
MCMASTER 91292A147 Stainless Steel Socket Head Screw 41

Parts List
DESCRIPTION 2DESCRIPTION 1PART#QTYITEM

A

A

B B

C C

D D

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

BREM LABS
4992 EXPRESS DR S RONKONKOMA NY USA 11779

TITLE

SIZE DRAWING NUMBER REV.SCALE

FRAC. TOL.`1/64

CHKD

DATE

DATE

DATEDWN

QTYJOB #
APPR

USED ON

MACHINED DIMENSIONS
UNLESS OTHERWISE SPECIFIED:
FILLETS R 1/32, EDGES BREAK .005
SURFACE FINISH 63 MICROFINISH

ANG. TOL. `0~30'
.XXXX=`.0005).

SHT
# 
OF

DEC. TOL.(.X=`.015, .XX=`.010, .XXX=`.005,

CERN182_2T_Hanger

RM 101019  D

8/15/2024RAM
 

-

3 
1  

MARK 
PART#

TEL +1 (631) 672-7385   

32

1

4

16

34

10

30

13

20 of 
RM102084

x8

x8



Structural plates

3Ciro Riccio, Stony Brook University | APEX meeting meeting

----ALUMINUM CAST JIG PLATE 

RAW MAT'L

UNIT
MATL

QTY
MATL

FINISH
MATL

DESCR.
MATL 2DESCR. MATLMATL NUMBER

1

1

2

2

3

3

4

4

A A

B B

C C

D D

BREM LABS
4992 EXPRESS DR S RONKONKOMA NY USA 11779

TITLE

SIZE DRAWING NUMBER REV.SCALE

FRAC. TOL.`1/64

CHKD

DATE

DATE

DATEDWN

QTYJOB #
APPR

USED ON

MACHINED DIMENSIONS
UNLESS OTHERWISE SPECIFIED:
FILLETS R 1/32, EDGES BREAK .005
SURFACE FINISH 63 MICROFINISH

ANG. TOL. `0~30'
.XXXX=`.0005).

SHT
# 
OF

DEC. TOL.(.X=`.015, .XX=`.010, .XXX=`.005,

STRUCTURAL PLATE

RM 102090 AC

8/15/2024RAM
 

-

1 
1  

MARK 
PART#

TEL +1 (631) 672-7385   

--

C1

C4C3

C2

D2

D4

D5

D1 D3

A4

A8

A13
A15

A3

A2

A9

A16 A17

A12

A6

A1

A10

A14

A7
A5

A11

B8

B2

B5

B4B3

B6

B1

B7

Hole Table
HOLE XDIM YDIM DESCRIPTION

A1 9.449 .276
A2 18.898 .276
A3 2.244 7.480
A4 9.449 7.480
A5 18.898 7.480
A6 26.102 7.480
A7 10.644 8.670
A8 25.211 8.670
A9 26.102 16.535

A10 2.244 16.929
A11 9.449 16.929
A12 26.102 22.441
A13 10.644 23.237
A14 25.211 23.237
A15 9.449 24.134
A16 18.504 24.134
A17 24.409 24.134

n.260 THRU

B1 7.087 1.143
B2 21.260 1.143
B3 3.112 5.118
B4 25.235 5.118
B5 3.112 19.291
B6 25.235 19.291
B7 7.087 23.266
B8 21.260 23.266

n.551 THRU

C1 .394 1.181
C5 1.969 1.181
C6 26.378 1.181
C2 27.953 1.181
C3 .394 23.228
C7 1.969 23.228
C8 26.378 23.228
C4 27.953 23.228

n.500 THRU

D1 6.469 4.500
D2 14.173 4.500
D3 20.878 4.500
D4 6.469 12.205
D5 6.469 18.909

n4.00 THRU

(.6
25
)

.0
0

11
.0
2

24
.6
1

28
.3
5

.00

9.06

22.64

24.41

R.98

R.98

A c 0.010 A

C6

C7

C5

C8

Procured and already cut by Long Island WaterJet



Shield plates

4Ciro Riccio, Stony Brook University | APEX meeting meeting

Procured and already cut by Long Island WaterJet

----STAINLESS STEEL SHEET 316 

RAW MAT'L

UNIT
MATL

QTY
MATL

FINISH
MATL

DESCR.
MATL 2DESCR. MATLMATL NUMBER

1

1

2

2

3

3

4

4

A A

B B

C C

D D

BREM LABS
4992 EXPRESS DR S RONKONKOMA NY USA 11779

TITLE

SIZE DRAWING NUMBER REV.SCALE

FRAC. TOL.`1/64

CHKD

DATE

DATE

DATEDWN

QTYJOB #
APPR

USED ON

MACHINED DIMENSIONS
UNLESS OTHERWISE SPECIFIED:
FILLETS R 1/32, EDGES BREAK .005
SURFACE FINISH 63 MICROFINISH

ANG. TOL. `0~30'
.XXXX=`.0005).

SHT
# 
OF

DEC. TOL.(.X=`.015, .XX=`.010, .XXX=`.005,

SHIELD PLATE

RM 102049 AC

8/15/2024RAM
 

-

1 
1  

MARK 
PART#

TEL +1 (631) 672-7385   

--

.1
25

.0
0

9.
37

22
.5
2

24
.4
1

.000

9.370

22.520

24.409

R.39

R.98

A9

A11

A3

A2

A7

A12 A13

A10

A6

A1

A8

A4 A5

B1

B4

B2

B3 C8

C2

C5

C4C3

C6

C1

C7

Hole Table
HOLE XDIM YDIM DESCRIPTION

A1 7.480 .276
A2 16.929 .276
A3 .276 7.480
A4 7.480 7.480
A5 16.929 7.480
A6 24.134 7.480
B1 8.669 8.669
B2 23.236 8.669
A7 24.134 16.535
A8 .276 16.929
A9 7.480 16.929

A10 24.134 22.441
B3 8.669 23.236
B4 23.236 23.236

A11 7.480 24.134
A12 16.535 24.134
A13 22.441 24.134

n.260 THRU

C1 5.118 1.143
C2 19.291 1.143
C3 1.143 5.118
C4 23.266 5.118
C5 1.143 19.291
C6 23.266 19.291
C7 5.118 23.266
C8 19.291 23.266

n.551 THRU

2.750

2.
75
0

1.
00
0

1.000

75X n.500 THRU

REVISION HISTORY
REV DESCRIPTION DATE APPROVED

A WAS OERFORATED SHEET NOW PLAIN SHEET 8/30/2024 RAM

A



Fake X-ARAPUCA

5Ciro Riccio, Stony Brook University | APEX meeting meeting

----CLEAR ACRYLIC 

RAW MAT'L

UNIT
MATL

QTY
MATL

FINISH
MATL

DESCR.
MATL 2DESCR. MATLMATL NUMBER

1

1

2

2

3

3

4

4

A A

B B

C C

D D

BREM LABS
4992 EXPRESS DR S RONKONKOMA NY USA 11779

TITLE

SIZE DRAWING NUMBER REV.SCALE

FRAC. TOL.`1/64

CHKD

DATE

DATE

DATEDWN

QTYJOB #
APPR

USED ON

MACHINED DIMENSIONS
UNLESS OTHERWISE SPECIFIED:
FILLETS R 1/32, EDGES BREAK .005
SURFACE FINISH 63 MICROFINISH

ANG. TOL. `0~30'
.XXXX=`.0005).

SHT
# 
OF

DEC. TOL.(.X=`.015, .XX=`.010, .XXX=`.005,

XARAPUCA PLATE BOTTOM

RM 102069  C

8/15/2024RAM
 

-

1 
1  

MARK 
PART#

TEL +1 (631) 672-7385   

--

22
.8

35
 / 

58
0.

0 
m

m

19.685 / 500.0 mm

2.756

.3
94

.236 / 6.0 mm

FUTURE SIPM's OPTICALLY GLUED
 TO EDGE OF ACRYLIC

14.134 .079

n.260
n.260

----CLEAR ACRYLIC 

RAW MAT'L

UNIT
MATL

QTY
MATL

FINISH
MATL

DESCR.
MATL 2DESCR. MATLMATL NUMBER

1

1

2

2

3

3

4

4

A A

B B

C C

D D

BREM LABS
4992 EXPRESS DR S RONKONKOMA NY USA 11779

TITLE

SIZE DRAWING NUMBER REV.SCALE

FRAC. TOL.`1/64

CHKD

DATE

DATE

DATEDWN

QTYJOB #
APPR

USED ON

MACHINED DIMENSIONS
UNLESS OTHERWISE SPECIFIED:
FILLETS R 1/32, EDGES BREAK .005
SURFACE FINISH 63 MICROFINISH

ANG. TOL. `0~30'
.XXXX=`.0005).

SHT
# 
OF

DEC. TOL.(.X=`.015, .XX=`.010, .XXX=`.005,

XARAPUCA PLATE TOP

RM 102080  C

8/15/2024RAM
 

-

1 
1  

MARK 
PART#

TEL +1 (631) 672-7385   

--

8.
66

1 
/ 2

20
.0

 m
m

19.685 / 500.0 mm

2.756

.3
94

14.134

.079n.260

.236 / 6.0 mm

FUTURE SIPM's OPTICALLY GLUED 
TO ACRYLIC EDGE

n.260

Procured and 
ready to be 

shipped

x8

x8



Cathode

6Ciro Riccio, Stony Brook University | APEX meeting meeting

SECTION A-A
SCALE .5

-MOUNT PERF SHEETRM 102097125
MCMASTER 44985K762SEAMLESS PIPE SCH 40RM 10209444
-MOUNT CATHODERM 10208183
-CATHODE FLOORRM 10205812
MCMASTER 45605K516Standard-Wall Butt-Weld Unthreaded 

Pipe Fitting
 41

Parts List
DESCRIPTION 2DESCRIPTION 1PART#QTYITEM

AA

1

1

2

2

3

3

4

4

A A

B B

C C

D D

BREM LABS
4992 EXPRESS DR S RONKONKOMA NY USA 11779

TITLE

SIZE DRAWING NUMBER REV.SCALE

FRAC. TOL.`1/64

CHKD

DATE

DATE

DATEDWN

QTYJOB #
APPR

USED ON

MACHINED DIMENSIONS
UNLESS OTHERWISE SPECIFIED:
FILLETS R 1/32, EDGES BREAK .005
SURFACE FINISH 63 MICROFINISH

ANG. TOL. `0~30'
.XXXX=`.0005).

SHT
# 
OF

DEC. TOL.(.X=`.015, .XX=`.010, .XXX=`.005,

CATHODE

RM 101024 BC

8/15/2024RAM
 

-

1 
1  

MARK 
PART#

TEL +1 (631) 672-7385   

13
.1
7

(1
.0
0)

21
.8
7

(.2
50
)

24
.5
0

24.50

13.17

13
.1
7

21.87

21
.8
7

2.87

15°

1X n.25 x ONE WALL

ALL WELDS GROUND FLUSH

.03

.03
TIG WELD
NO SHARP EDGES

.03

.03
TIG WELD

NO SHARP EDGES

REVISION HISTORY
REV DESCRIPTION DATE APPROVED

A CHANGED MATERIAL FROM PERFORATED 
SHEET TO PLAIN  SHEET 8/30/2024 RAM

B ADDED PERFORATED SHEET TABS
MATERIAL IS BACK TO PERFORATED SHEET 9/10/2024 RAM

5

2

4

6.
50
0

6.
50
0

M3x0.5x .236
DRILL AFTER WELDING
ALIGN HOLE WITH MESH PATTERN

PERFORATED SHEET 
PARTIALLY SHOWN

2.
87

3

SHEET METAL
SMOOTH SIDE 
FACE HERE 

Welding will be 
completed by Monday



Cathode

7Ciro Riccio, Stony Brook University | APEX meeting meeting

SECTION A-A
SCALE .5

-MOUNT PERF SHEETRM 102097125
MCMASTER 44985K762SEAMLESS PIPE SCH 40RM 10209444
-MOUNT CATHODERM 10208183
-CATHODE FLOORRM 10205812
MCMASTER 45605K516Standard-Wall Butt-Weld Unthreaded 

Pipe Fitting
 41

Parts List
DESCRIPTION 2DESCRIPTION 1PART#QTYITEM

AA

1

1

2

2

3

3

4

4

A A

B B

C C

D D

BREM LABS
4992 EXPRESS DR S RONKONKOMA NY USA 11779

TITLE

SIZE DRAWING NUMBER REV.SCALE

FRAC. TOL.`1/64

CHKD

DATE

DATE

DATEDWN

QTYJOB #
APPR

USED ON

MACHINED DIMENSIONS
UNLESS OTHERWISE SPECIFIED:
FILLETS R 1/32, EDGES BREAK .005
SURFACE FINISH 63 MICROFINISH

ANG. TOL. `0~30'
.XXXX=`.0005).

SHT
# 
OF

DEC. TOL.(.X=`.015, .XX=`.010, .XXX=`.005,

CATHODE

RM 101024 BC

8/15/2024RAM
 

-

1 
1  

MARK 
PART#

TEL +1 (631) 672-7385   

13
.1
7

(1
.0
0)

21
.8
7

(.2
50
)

24
.5
0

24.50

13.17

13
.1
7

21.87

21
.8
7

2.87

15°

1X n.25 x ONE WALL

ALL WELDS GROUND FLUSH

.03

.03
TIG WELD
NO SHARP EDGES

.03

.03
TIG WELD

NO SHARP EDGES

REVISION HISTORY
REV DESCRIPTION DATE APPROVED

A CHANGED MATERIAL FROM PERFORATED 
SHEET TO PLAIN  SHEET 8/30/2024 RAM

B ADDED PERFORATED SHEET TABS
MATERIAL IS BACK TO PERFORATED SHEET 9/10/2024 RAM

5

2

4

6.
50
0

6.
50
0

M3x0.5x .236
DRILL AFTER WELDING
ALIGN HOLE WITH MESH PATTERN

PERFORATED SHEET 
PARTIALLY SHOWN

2.
87

3

SHEET METAL
SMOOTH SIDE 
FACE HERE 

Mesh procured and 
corners cut by Long 

Island WaterJet



Corner brake

8Ciro Riccio, Stony Brook University | APEX meeting meeting

    STAINLESS STEEL SHEET GA 20 

RAW MAT'L

UNIT
MATL

QTY
MATL

FINISH
MATL

DESCR.
MATL 2DESCR. MATLMATL NUMBER

1

1

2

2

3

3

4

4

A A

B B

BREM LABS
4992 EXPRESS DR S RONKONKOMA NY USA 11779

TITLE

SIZE DRAWING NUMBER REV.SCALE

FRAC. TOL.`1/64

CHKD

DATE

DATE

DATEDWN

QTYJOB #
APPR

USED ON

MACHINED DIMENSIONS
UNLESS OTHERWISE SPECIFIED:
FILLETS R 1/32, EDGES BREAK .005
SURFACE FINISH 63 MICROFINISH

ANG. TOL. `0~30'
.XXXX=`.0005).

SHT
# 
OF

DEC. TOL.(.X=`.015, .XX=`.010, .XXX=`.005,

KEYSTONE PN620 MOD

RM 102084 ANYB

8/15/2024ramma
 

1 
1  

MARK 
PART#

TEL +1 (631) 672-7385   

--

.032

.66

.9
6

.7
09

.420

R.38

R.38

.375

.188

n.169

n.169

Procured and already cut 
by Long Island WaterJet 

but not bend yet. It is being 
done at SBU

x20



Timeline and next steps

9Ciro Riccio, Stony Brook University | APEX meeting meeting

• Welding of the cathode tubes started today and the full assembly 
of the cathode will be finalized by Monday


• We will ship all our parts as soon as possible but not later than 
Friday October 11th


• We will use FedEx and should be at CERN in 2-3 business days


• I need the CERN shipping address 



Backup

10Ciro Riccio, Stony Brook University | APEX meeting meeting


